Waste production for an average salmon farm

500 mt of fish production = 110 mt* of waste discharged

Feed Input (1:1.1 FCR)
500 mt fish = 550 mt feed

\

Ingested /

Solid Wastes

Retained

nutrients - Digested nutrients
v - J/' 3
Indigestible nutrients
Nutrients in
waste feed

Soluble nutrients
v

Fecal nutrients
Non & slow-settleable
particulates

Waste Feed (2.3% of total feed) Fecal Waste (15% of total feed) Nitrogen Waste (32 g N/kg growth)
=12.6 mt =82.5mt =16 mt

*110 metric tonne (mt) is 110,000 kg or about the same weight as 100 Toyota Prius C cars. Source: Milewski 2014




